EKO

INBIRSTET

Silicon Pyranometer

IA4YIRI—bAALF

Quick Start Guide

ML-O17

COEIFHLBEEDOHG T ESRONIEEHINEITIVET,
Thank you for purchasing EKO products.

COAABIIBEICHE. CERAVELIEHDOAIETT,
FHIIENIREHBAE B L \EEE IEULKBEL \KTIEEL ),
This sheet provides the basic instructions for setup.
See the included manual for further detailed
information about this product.

KEFEANE (FTVaY)
With Leveling Plate (Option)

2

ML-014& Sensor

{REEICDWT Product Warranty

AEEOBERIPES SURIARECOES
VTR ARRICARNFENTNBTRIE 225
B FlolIBERFELBEEETBHLEhECT
(A

For warranty terms and conditions, please contact
EKO Instruments or your distributor for further
details. The warranty is only subjected to the
instrument which is installed and used in correct
manner. EKO will not be reliable for any loss or
damage caused from improper installation or use.

1 CRHEBUVEELHD Required Tools

Eﬂﬁﬁ;@

T

LoF
Wrench

\—~

TAY— (BEERAE)

Multimeter

(Voltage, Resistance)

2 RBISP-RIFODIEER Location & Setup Conditions

@ —AEBUC KBESAE2WREN
BEICRVGRERA TS,

Select a location with free horizon.

+E51)0—(#0)
(M2x /)
Phillips screwdriver
for M2 Screw

KEFABEEFERULNEE Installing without Leveling Plate

11

BRBRA®Y(M2)3ME
M2 Screws x3
RS REARE t+3~4mm
Length: Installation base thickness
t + 3~4mm

YEpive vl

Compass

ZJ)\F (10mm)

Spanner

FYRIFREL+H4[mm]LDRNE
BEETEEE A,

ML-01 will not properly fasten on
installation base if screws are
longer than [t+4mm].

N =T

Cable
4
® BEBHN ﬁ
U EEROBAI
T=TI)L &AL
FFIROBE(L
PRAICHETTHRE
L&EJ,
Place the
pyranometer with
the Cable facing the
nearest pole. Cable

1 HMTNSEER Package Co

EFIIRILHDICMBABRECHERE, TR FIIHENH BB AE.

ELICTEE TS,

First, please check the package contents. If any part is missing or damaged,

please contact EKO.

NEY R SE AR (BHhr—TIEE)

Silicon Pyranometer (with Signal Cable)

Z7¥3>  Option
KEFES  Leveling plate

KEFHERY  Leveling Screws (M5) x 3

BHEEAUTRY  Sensor Mounting Screws

(M2) x 6 (55F{#3 Spare Screws 3)
EftRI)LE Bolts (M6) x2

JwZ¥— Washers (M6) x4

30 0 e—
Py P—

Fwk  Nuts (M6) x2

RIEFEBAE  Calibration Certificate

{REEE  Warranty (only in Japan)

JAVI A=A (K8) Quick Start Guide

o HREEEN

B ERBAEILEKOR—AR—Y &5V O-RLT
<FEE,
Instruction Manual can be downloaded from EKO
website.

REDHE(F Preparation to Install

Fixing Holes on Installation Base (¢5mm)

KERBAEEAT 2HE KERBEEFALLVEE
Mounting with Leveling Plate Mounting without Leveling Plate
EIE 7\ I8
Fixing Hole Pitch
50
bl Y] JtErldm
N/S Pole N/S Pole
-.~\ )
D —O+- BEER2N — BEER 377
= Fixing Hole x2 Fixing Hole x3
6.5 (M6 Bolts) AR 3-M2 RES
‘ ‘ 3-M2 Depth 5
‘ (mm) ‘ (mm)
60
$22 $22

® 5 Weight:

PNz
Body : 30g

~10‘

335
[

— le-—-

28.5

(mm) (mm)

AE+KEREES
Body + Leveling Plate : 75g



E21E Installation

Place the ML-01 on installation

-k

7R¢%Eﬁ(zjyﬂy)’émbﬁlj¥? 2 7k$’éeb-u§3' %gggig;g%ﬁg Installing in Horizontal Position:

Attaching leveling plate (optional) Level the pyranometer. EAahtEd, base and adjust the level.
KEREEZEFERT2HBEDH Only when mounting with Leveling Plate ERECHET 3548:

FHKFRADLEICE

HOKEESDEET,

KERERS
Leveling Screws

4 HAOBEZREBLET

Checking the Output Voltage

BRT—TIND+/-EFAI—1EE
/7L DEEREBICDOBVNTHAAE
ﬁ _/ USKHTN A ERERBL TEEL),
T - 0 After connecting the pyranometer
: Spirit Level and output cable, use voltmeter to
.

check for output.

g g M2%x M2 Screws
BBLEDHAME Approximate Output Values

3 7"‘\"[1 hil** :J“IE E lJ * ? RENB0LV/W-n2MIFA  When Sensitivity is S0uV/W-m™2
Fasten the pyranometer on installation base with bolts / screws. ET 20 a2 B
KR L = KR L L \ Sky Condition Overcast Partly Cloudy Clear
With Leveling Plate Without Leveling Plate ASY3E  Solar Irradiance [W/m?] <300 >300 >700
Ty g B&tEfH Output Voltage [mv] <15 > 15 >35
WanleFS EI’E?’? HEEASHANENEZS: When there is no Output:
BRI Fixing Holes HAT—T I (+/-) BOEFE (R EBIE Measure the impedance of the output cable
Bolts =) i ®2.5mm ) &R, 43~53QNFHEN TH N (+/-) and check if the impedance is in the
e . (M2 Bolts) LTS, (BT REMDB range between 43~53Q.(When standard
.E.IE" @ &) BHENGEENDBEIIHLIEHE cable length 5m) Please contact EKO if the
Fixing Holes | FTHBENAELTZEL, impedance is out of this range.
®7mm i s P
wosos / mme smo RRELET
| Installation Base / | Installation Base / Wiring FAOA -1 E A
< : 1 i A7 Connect to Measuring Instrument
Dvie— ® i iR/ EEEHT ZO
Washers G REEM2RY CEELET Orange Wire/Blue Terminal "
Ming Hole Pitch Fasten the pyranometer on installation base ¢ BiR/REBRT
Nuts 50mm with M2 screws. White Wire/Red Terminal
5 6
iE l Measurement & Maintenance
BIEL VY Measurement Range B#RIE Recalibration
OA-ZEDEEBRAIT, TROBABENAE TS L VIV EERL TS,
Set measurement range on the measuring instrument according to the below output range. BFIC-—EOBREESBOLEY, BRIEOCHKBIIHLEEEITHREILEY,
It is recommended to recalibrate once every 2 years. Please contact EKO for recalibration
service.
HNEEEE  OutputRange [mV] : 0 ~ 100

Bal&EDRDF Calculate Solar Irradiance SEANE MM 23T

_ Ewnv At www.eko.co.jp
Towrmi = “Stuvwem T151-0072 WRABEARIME,£1-21-8
TEL 03-3469-6714 FAX 03-3469-6719
1: BEEE Solar Irradiance [W/m?] HRIR—YR-tt>5—
E: BE¥EHHABE  Pyranometer Output Voltage [uV] TEL 03-3469-5908  FAX 03-3469-5897
S: BREEH Sensitivity [LV/W-m2] Efik=EST www.eko.co.jp

532-0012 KFR™E/IXAJIIFR3-1-31
TEL 06-6307-3830  FAX 06-6307-3860

EKO INSTRUMENTS

EFBHIHMA>YFF X Periodic Maintenance

SHE (EEIR) . HEURDIENERSD R THE

O TEE W, IEB RS LU Z DE AR, BN B A Head Office www.eko.co.jp
EUTORLDERBL TR, 1-21-8 Hatagaya, Shibuya-ku, Tokyo 151-0072 Japan
Diffuser: Keep the diffuser clean by wiping it with a TEL +81(3)3469-6713 FAX +81(3)3469-6719

soft cloth. Check for cracks and scratches on the

diffuser and the rim. EKO INSTRUMENTS Europe B.V.  www.eko-eu.com

Lulofsstraat 55, Unit 32, 2521 AL Den Haag, The Netherlands

T—T VRIS BEIREERUT T ILAMBATLAL TEL +31(0)70 3050117 FAX +31 (0)70 3840607
NERBL T, EKO INSTRUMENTS USA INC. www.eko-usa.com
Cable Condition: Check and make sure the cable is 95 South Market Street, Suite 300 San Jose, CA 95113 USA
attached securely and not damaged. TEL +1408-977-7751 FAX +1408-977-7741
KEEER: KEREERL TKEATN TS, FBE © EKO INSTRUMENTS co., LTD.
LTrEEn

L . . o 7180 ( QSG-MLO1-17-02_v010 / $-2013
Spirit Level: Check if the bubble is within the center @9?9,91_ ‘&-) ML-01%LSG20130§;GVZ/

ring. Readjust if necessary.




